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> Question number 1 to 20 are of short answer type.
F£1E20 BUIREEE.
F£1E20 BYREEH,
> Each question carries 10 marks.
BB 10 2,
BEL 10 2,

1)
The perimeter of a square is 96 cm, find the area of the square.
—EEFFENERZ 96 EX , FHHRERENERE,

—MEFFHESRRZ 96 BEX , FHRHEZIERFEHER,


mac


2)

The bus fare of a bus route was 4 dollars for adult and half price for child.
This route made 2026 dollars one day. If there were 352 adult passengers on

that day, how many child passengers were there?

—REBLRENRAEZRNEERS , NEEEREH¥. EMBE—RKT
$2026, REH 352 BERMARE , FEARREZSLNERE ?

—RBIBREHNRAERZENERES , PEEERNMEF¥. XRE-RKT

$2026, RER 352 BRARE , ERBRBESZDPNERE?

3)
A+B=96
A-B =48
A-B="7
4)

How many numbers are there in the sequence 19, 27, ..., 499, 5077
mREEEBIHESDERF 19,27, ..., 499, 507 ?

BEXNMNIHBEZSDNRFE 19, 27, ..., 499, 507 ?



5)

A beaker is 5/7 filled with water. Another 6 liters of water is needed to fill

the beaker to its brim. What is the capacity of the beaker?

BAREm 5/7 ik, BRE 6 A KkEEARR, BIFNETERSD?

"/

BRI 5/7 K, BFE 6 AKFENER, KMNBTERSD?

Two wires are 12 m and 16 m long. The wires are to be cut into pieces of

equal length. Find the maximum length of each piece.

MBREFRNREDBIAR 12m M 16 m. HERTRARRENEH. RERY

RARE.

MREBLNKEDHN 12m M 16 m, HRLKBERKENER. RERH

RAKE.

Find the lowest number which leaves 3 as remainder when divided by 8, 12

and 16.

SRBREL 8, 12 1 16 BFERBLA 3 W&/ D E.

SRBREA 8. 12 #1 16 RYREUN 3 WE/IME.



Convert 1 year into seconds.

&1 FEIRAD,

1 FHRBRAD,

The mother is 32 years old and the son is 18 years old now. How many years

ago was the mother thrice as old as the son?

BHRSER2E/, RFSF 185, ZLVF , BENFHREFH=fF?

BESE32S , IFSF18%, ZLF , BFENFRERILFH=MHF?

Sides of a rectangle are in the ratio 3:4, area is 48 cm?. Find its perimeter (in

cm)?

/|

RAEFNERIEAS 4 HERB48FHRTD. RENAK (LT ) ?

AV

/|

KAEFNLKER 34, BIRA 48 FHFEK, RENEAK (EX) ?

AV



11)
What number should come in place of “ ? ” to make the given statement true?
AT EHFRAE ? " EHEEABRRRKIL ?

Rz ABFRAE? " FLEENBRRKIL ?
2_ 330

12)

Which numerical pattern follows the rule "subtract 2, then multiply by 3," when

starting with 57
7t 5 BAtAEE , MERFENER "RE 2, RAERFEL 3, BVRA?
SHM 5 FHiaet , MR FENER RS 2, AEFE 3"RIAN 2
(a)5, 7, 21, 29
(b)5,2,4,1,2

)

)
(c)5, 15, 13, 39, 37
(d)5,3,9,7, 21,19, 57



13)

John's user ID is a 5-digit number. The 7 is in the ten thousands place. The 0
is in the ones place. A 6 is in the thousands place. A 3 is in the tens place. A 1

is in the hundreds place. What is John's user ID number?

NENAEFIDR—E5 NEF, 7 uRBEN, 0 U@L, 6uURTi. 3

VRt . 1REM. NBHAF IDRHEZD?

HYPHAF IDR—1 5 UBF. 7TRTAM. 0 wTFML, 6uTFu. 3

LT+, 1 uTEN. ABNAF IDSRZD?

14)

4 is subtracted from a number. The difference is then multiplied by 5. When 9

is added from the product, the result is 24. What is this number?

R—EHFPRE 4. RBEGEERU 5, —EHFPRE 4. REGEET

L5, eBEML 9, HRER 24, EEBFERZD?

M—NEFREE 4, REFEERN 5, RRME 9, ERE 24, INMKFR



15)

Calculate:

ATE

D!

78+[32-{25-(20 -25-20)}]1==, Find x.
78+[32-{25-(20 -25-20)}]=1, R x.

78+[32-{25-(20 -25-20)}]=1, R x.

16)

In a class, 20 students collect stamps, 18 students collect postcards, 4
students collect both and 3 students collect none of them. How many students

are there in this class?

E—EVRT , 20 B2EREBRE , 18 ERELEWKHERH , 4 BEELEMEHWK
£ 3HRBLEMGEHRBUE, ERAMRESIEEE?
E—NRT , 20 EFEWEE , 18 EFLEWKRERH , 4 BZERERK

£ 3BRFEMFLATWRBRE, INMUBESLRFE?



17)

Write the appropriate decimal for 4000 + 30 + 5 + 1% + ﬁ

8 3
BH4000+30+5+ =+ 1000E’9/J\§5zo

— 8 3
EH 4000+30+5+ =t BN

18)

Four students can sit around a square table. Students placed 12 square tables
side by side in order to make one long table for a school party. How many

students could sit around this long table?

MEZBETUELERLIRE. BEMAHRET 125RAR , URE—RA

RERRENRR., ERREEBLZDBL?

A

MEZFAEAUELE-KARE, FENMNHAERET 12KF KR, HE—KA

>

TERRENKR, XEKKRELZDZE?

A



19)

Six fishermen, Anie, Banie, Canie, Dany, Robin and Robert, all wanted to go
out for fishing. However, they only had two fishing poles, so only two of them
could go out each day. How many different groups of 2 fishermen can be

formed?

ZE, B, FE. A, BENMBERBAEARBALEN/A, AW,
AREMBIARFE  IASRATMEATAEE , FZVEFRN AR
A ?

Zike. B, FE. A, TPENFREAANMERBAHENE, AW,

MNRAERRNEF  AUSRRBERIATUE L. BEONTENZAR
A ?

How many times does the digit 6 appear between 1 and 100?

13100 2FE&F 6 HIW T 4R ?

13100 2 EEF 6 BT 2K ?

END OF PAPER



